MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
118035 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) - Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F(786)315-2599
NOTICE OF ACCEPTANCE (NOA) . www.miamidade.gov/economy

Construction Specialties, Inc,

49 Meeker Avenue

Cranford, NJ 07016

SCoPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction

materials. The documentation submitted has been reviewed and-accepted by Miami-Dade County RER-

Product Control Section to be used in Miami Dade County and other areas where allowed by the Authonty

Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
~ Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right

to have this product or material tested for quality assurance purposes. If this product or material fails to

perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may

immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER

reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control

Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building

Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model DC-4174 Afuminum Louver

APPROVAL DOCUMENT: Drawing No. RD-1140, titled “DC-4174 Submittal Drawings”, sheets 1
through 12 of 12, dated 12/03/2010, with levision 1 dated 05/24/2011, prepared by Construction Specialties,
Inc., signed and sealed by L. David Rice, P.E., bearing the Miami-Dade County Product Control revision
stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturet's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved”, unless otherwise
noted herein.

RENEWAL of this NOA shall be considered afte: a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in adve:tlsmg literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 11-1212.07 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Car }OS M. Utl era, P.E,

NOA No. 14-1021.09

Expiration Date: June 16,2016
Approval Date: January 29, 2015
Page 1




Construction Specialties, Inc.

NOTICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED

A. DRAWINGS “Submitted under NOA # 11-1212.07”
1. Drawing No. RD-1140, titled “DC-4174 Submittal Drawings”, sheets 1 through 12 of
12, dated 12/03/2010, with revision 1 dated 05/24/2011, prepared by Construction
Specialties, Inc., signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA # 11-0218.04”
1. ‘Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of Model DC-4174 Aluminum Louvers, prepared by
Architectural Testing, Inc, Test Report No. A4375.01-109-18, dated 02/04/2011,
- signed and sealed by Michael D. Stremmel, P.E,

C. CALCULATIONS “Submitted under NOA # 11-0218.04”
1. Model DC-4174 Louver calculations prepared by Rice Engineering, dated 02/15/2011,
signed and sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. | MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to 5™ edition (2014) FBC issued Rice
Engincering, dated 09/26/2014, signed and sealed by L. David Rice, P.E.

“Submitted under NOA # 11-1212.07”
2. Statement letter of code conformance to 2007 and 2010 FBC issued Rice Engineering,
' dated 12/06/2011, signed and sealed by L. David Rice, P.E.

“Submitted under NOA # 11-0218.04”
3. No financial interest letter issued by Rice Engineering, dated 02/15/2011, signed and
sealed by L. David Rice, P.E.

Carlos M. Utrera, P.E.

Produet Control Examiner

NOA No. 14-1021.09

Expiration Date: June 16, 2016
Approval Date: January 29, 2015




ARSI Y HYRNI SR NNIS NN RINRANANY

e STACK. T AN INLIMITED HEIGHT-

{gﬁ7=’“ﬁg-- % % - I s
. SN SRS e ) d

é : — : = [ = /)0

%] - s imican 8 (=]

i) | S— g pud : @

o DA esiilg 5 o i= 3

E '7 = '.V V -

g

SEE TABLE DN PAGE 11 “STRAIGHT JAM3 CLIP AND

—STACK TO AN UNLIMITED HEIGHT

g

A
3

SPECIMEN 2 115 PSF

TASTENERS FOR ATTACHMENT T SPECIFIED SUBSTRATES7

SEE TABLE ON PAGE 11 *STRAIGHT JAMB CLIP AND

XIMUM
SPECIMEN 1 8‘3 PSFx

SE_QI_U_&@

g -0* MAXIMUM

*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY. SEE TABLE 4 ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND
STIFFENER SPACING ACCORDING TO DESIGN WIND LOAD FOR SPECIMEN | OR 2 APPLICATIONS. REVISED
1} It shall he the responsivility the Structural Engineer of Record to verify the capacity of the structure to support the loads imposed by the Iouv%wﬁmmmpm \ e
2} These louvers have been designed according to the Florida Building Code and the Aluminum Design Manual. They are tested in Bullding Code o it
accordance with Dade County protocols TAS 201, TAS 202 and TAS 203. Acospisnce No £/ (2120 / prstiere
3) All fasteners shall be stainless steel or plated steel. Hupiration :
4} Panel widths and helghts are limited as shown In elavations and details,
5) The louver Is to be Installed in a location where the room behind the louver Is designed to drain water penetrating Info the room and the roon{‘-“m"i Product Coutral.

i

cilties

49 MEEKER AVENUE, CRANE

3
3 o
8 2
oll3
I
21519
qHHE
@
Si-jul=
ul«aizi
&|ajn|c
0
g
LYy
¥ z
4 &
® o
=
E SR
=1 “11'::;“]
¥ MEME
i I E S
[ =
a o @]
ol B B ED)
- S1U3
¢ HEHE
for o I P =
-
B

PI-FONE:J‘*BOQ*BIS‘#—'JZ:?S / PR S08-272-5844

will house waterproof or water resistant equipment, components or supplies. ot
8) Jamb clip spacing may not exceed maximum shown in elevations, Each clip and fastener used must be detailed on the drawing and verifled on the NOA, — :
1 7) Separation of unpainted aluminum and dissimilar. materials to ba maintained by the installer. e o A
- 8) This louver system has been tested, analyzed and approved for design pressires. not to exceed 170 PSF and Is "Large M:sslle Impact Reslstant", fommertertcasmmsmemmmeip R TN
9) See shest 12 of 12 for blade span table. ] Jol.¢
10) Mullion louvers may be stacked horizontally for an tinlimited distance as long as recommended blade and mullion spans are malntalned e e—r— o e
11} Louvers without mullions may be stacked to an unlimited helght as long as recommended blade spans are maintained M AV, gg": e
-1 12) At the sill, the Jamb s miter cut and bulled into the sloped slif and held with two SS Num 10 X ¥ self tapping screws, The joint Is sealed with foam tape. Seesmascnmony LR b - HNE.
..} 13) The head extrusion Is square cut and butted Into the Jamb or mullion and held with two SS number 10 X 1 inch seif tapping screws = o derm T / STATE OF - ¥t
14) Blades are attached to verfical jambs with four Number 10 ss socket pan head screws see details pages 4 and 5 Certificate m%h&ér Ation2gdh N, °, P ;\éﬁ' 3
15) Blades are attached to shaped louvers with lwo # fillet welds 1 inch 1ong and with a 3-20 nut and bolt through a relnforcement flange attached to the frame see detalt U4 ke?ﬂi‘ﬂgﬁmﬁqp . 6:9 @ L RR..\&@\ 3
" ”f SUNAL ¥ WODEC 0 6 201

“Hiry Y




Blade Blade
Stiffener Stiffener
i i) (Q%r} (1%?} !

N

eg(
qg(

5. 2, P

&

SEE TAELE ON PAGE 11 "STRAIGHT JAME CLIP AND

FASTENERS FOR ATTACHMENT TD SPECIFIED SUBSTRATES'—\

—TESTED HEIGHT 8’—6; (STACKS TO AN UNLIMITED EEIGHT>

L—TESTED HEIGHT 8’-6" (STACKS TO AN UNLIMITED HEIGHT>

37—

CUSY. L

34"

SECTIMON

SPECIMEN 3 92 PSF%

“WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY.
SEE TABLES | ANG 4 ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND STIFFENER
SPACING ACCORDING TO DESIGN WINDLOAD FOR SPECIMEN 3 OR & APPLICATIONS.

PROLUCT REVISED
-] mﬂy&i with the Floride
4;" ‘. ffi:‘

10 MAXIMUM-

PRODUCT REVISED
£8 comglying with s Florids

WHEN STACKING UNITS CONTAINING A BLADE STIFFENER, IT |S REQUIRED THAT

THE 3" CHANNELS BE TIED TO EACH OTHER TO ACT AS ONE COLUMN.
SEE DETAILS FOR STIFFENER JOINT PLATE,

4 Inch
S&:}ﬁj;d Chaljne[ g
o IR
_|als(®
N () - Zd(ls
- P2 BN P b
(- 214y
iojlwn|ia
AR\ (8, D,
@ @ T
— ¥ ME
- CPAK 1
i % i';
I' x / » ‘ S
i ¥ 7 5] g
Ii w e:) & o w
‘ 7 1 = G = |;¢ = Z

; 5 vl & A RE:

Q i ] i izz SB I =1,

g T | g - e 4 T 2id|®|=
ek 4@ = 1= g% |3 Ei o
e 5 1 5 it S [a|Ei |8
X A E A & PR E RN
d | % L = A GRS
§E = 1 = |P" 3 an gy
58 ﬂ o o Id| | = |21E|8|E
gg | E E’ tg Hla|F|lojo

= - A a £l A
4 = : H GG

g ]
ig i { E ’;:1 E '. [

Yk i Y 1 o sy G| 2| =
S o =z b4 [ = v
Zz0 [wa] ./'1 [} |r€ B
G 5 5 3| 5] @ m%
45 2 ‘E | 2| B
[T ] =N
b [ P 85
B [ lﬁ oL
I N <ol || 8e7
@ @ wigs
N
SECTIO SECTION e °5
pr-6* ME 2'-6" ——&@ —‘@ :E 4
— ENGINEERING Bl
M 75 PSFx B a yreck Trall v o
SPEC] 18;0?1?38%.%%654217 _ \\\\\\\\“‘ig” f!” g g.'-
ploso. 920140 1042 SOl ey, | &by
. bao. o o ‘
Sﬁiv,rice-mc.com § \'\;\C,E 2, ’ ?54 Ug%
I | 5§ F— '
“inn No. F-01000005061 Pl A1/ 4" L=
I i F!on%a rlmgfmnthorization.# & xax : "
S  Dauid Ric STIFFENER 3
3] I RegiatrationNo 0823 JDINT PLATE y
o ' 1
]
| N 1/47-20 <QTY
| LJ NUT/BOLT/ WA R ONAL
r oo CHIIDD i
: DEC ¢




Reinforced mulllon g |nch Channel
4"2" TeB and Sp"ce =
4"x4" Angle PRODUCT mﬁgsg) 3
conplying Fioeida : g
\ m&“ Hh1212.07 8 o[ %
Reinforced Mullion i \ 31 / . z@ﬁ@&, 4|2
oyt 6 Inch Channe! : ir g AR
4"x2" Tes and £ D, B — Zld|ls
2"3" Angle Splice - %B/\/ 3 4’ Y7y «-,. Tl g E_. E ;
A of = | | &
N3 I  S— A ¢ N B @_
w @ @ @ s 1S o :
h “ ;L]' »
2 | |
: Alll @L (
£S6)
i i ° : \ ZRE L
A" i : ﬁ i /1' N @/ o] - &
&] /:l' ! / T ;‘Ji £ | £ 1 3 i
< ¢ 6] Al B 12 (5IEE2
/1‘- &, 1 i / L L Sl= " tu.;).
/] < | = AT S I P
#i 25 ; 3 A 3 'R EHE
i L en 2 Al S (& |8|q]ylE
R -Il J ) 8 ] > / % P o ': Q|
4 m = 18 C ab = A= S
: | = Oyl @ 5 3 " Za %
o 1O & Eg Y §| L (1
2 I g | 8 g !; 5 SAR= 8
85 Al E I = ) = =
ofl I 3 JARE £ bg i Z §1 % 2 .
g - z o E 0 =g i t ZREE 4 in
4 54 ) X T
K S HlE e s £ | : A\ & | 18 | Sk
ge &R ' ] 4 4 =
él_ % /JI % é e H 5 ﬁ'l' 51 “—_3.] BE
b b o I R 1] £ &8 = AT ¥ Qad
nG g 1 e Fg ] /4 ‘ @ 2%
[T f— 1. - b [ 7] i 1. m sy
i 0 A & b e ] S %
£ i | 2 @ - ol Vit
EE k l. k ) | /J . g‘(\
ug 14 T I ‘111_/'I & 82
I . - LB
ﬁﬁ als ,/'.!. 4 3 | oema g
4 %_ﬂl $ f gggé
oL 1 1 . zd
A ; oG | edd] | B
1 /_|, 3 . MULLION sPucE ’ &
ii @L_,. 3 o} . d32) g 8;%
4 Ny SECT iy s
32 @* " 2’—6'MM,7—6' NG —\\\\:\% ‘/ g 2
SECTION. SECTIM ENGINEERI S NCE N i
2'-6" 2=6"— 2-6" - 105 School Greok Trail NS S,
SPECIMEN 6 170 PSF* Luxcmmggom\rjbfé?:z? I (o .f’&/
. i , oy i . v *
SPECIMEN 5 125 PSFx - Fax 920,645 1048 g § .
VAR fiCeAnG.Com E ot :
*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY. L 5051 =Ry,
SEE TABLES 2,3 AND 4 ON SHEET [2 FOR MAXIMUM BLADE LENGTH AND STIFFENER SPACING ACCORDING TO DESIGN WINDLOAD 5’*’:;%1;’;‘2&?;&;‘3;2%‘32?;9ogo X714 EANE
FOR SPECIMEN 5 OR 6 APPLICATIONS. ¢ David Roco 4 §£R\0¢\\(§\ &
Registation No- 50023 A ONR
Tt

DEC 0 6 201




REVERSE CLIP ~
INSTALLATION

16 Ga MIN GALVANIZED

REVERSE CLIP
INSTALLATION

2000 LB MIN

STRUCTURAL STEEL STUD CONCRETE

Detall B
SCAFEI NTS 4/
SP-ALL

AN

160

[ muneg
f sy
<
<

b

/fék

<

REVERSE CLIP

INSTALLATION
WOOn

G=0.42 MIN.,

Detall N
SCALE: NTS <4/
SP-ALL

Detall

SCALE) NTS

SP-ALL

(B
4

REVERSE CLIP
INSTALLATIDN

3/16” MINIMUM
STRUCTURAL STEEL

Detail

SCALE:r NTS
SP-ALL

N

REVERSE "CLIP
INSTALLATION

CONCRETE FILLED

CMu

De tail /T
SCALEr NTS 4/

SP-ALL

REVERSE CLIP

REVERSE CLIP
INSTALLATION
NOT SHOWN °

Special
shope blade

flllet welds{X

Inch tong

05-24-1

RD- 1140

@Gﬂ%
relinforcemen ﬁ

DATE: [2-03-10
SHEET: & OF 12

REVISION: 1
DRW NO :

INSTALLATION
1787 MINIMUM SPECIAL SHAPE
ALUMINUM PLATE LOUVERS
Detail /Y Detail A
SCALE: NTS 4 SCALE: NTS W
SP-ALL SP-1&2

PRODUCT REVISED

Escomplyirgmtbafm

1]

LI

|

W4

Note:!
connection
between 48 ond 40

There

IS NOo

Detail (G
SCALEr NTS 4/
SP-28&3 :

Detall

SCALE: NTS
SP-4

Acveptance No 1 1= (22..07

FNGINELRING

ool Greek Trail

[ yh il /b

£\

\ Luxemigura, Wi 54217
- Phone [U20.845 1042
8 Fax: | 920.045 1048
v rige-inc.com
Flotida Firm Nol F-01000005061
Cerlificate of Authorizalion: #909
Detall Ty Dadd Roe
1} : 65092
SCALE! NTS WegrsifatlonNo 0923
Sp.4

108

e
SP -4

St.bE SHEET 8 FUOR CLIP DET'f:

LY

e

TITLE: SUBMITTAL DRAWINGS
PRW BY: R. GEIST

PROJECT: DC-L174

SCALE: I72

& - o
?ecaaﬂﬁnes
49 MEEXER AVENUE, CRANFORD. MEW JERSEY
PHONE: 1-800—8631-7379 / FAX: 908-272-5844

A\
Co}astmc&im S

’; Qf‘éﬁi‘w. A\
ety

~ DEC 0 6 201

Al




PRODUCT REVISED
Huflding Codo

Dute

Detail

a9 complying with the Fiorida
Acceptance No 1= [2{Z 079

<~ B
I
N
>

DATE: 12-03-10
SHEET: 5 OF 12
DRW NO : RD-|140

REVISION: !

o
/T Hetail

SCALE: NTS
SP-5

Detalil

SCALE: NTS

N -

SEE SHEET 9 FOR CLIP DETAILS

SCALEr NTS
SP-5

TITLE: SUBMITTAL DRAWINGS

SCALE: 172" = I'-0"

Jil
P2
i;%g i
A
=
o
ts
PROJECT: DC-L174

DRW BY: R. GEIST

Z5\

I

§

110}

A

—
=i U UK

Betaijl

SCALEs NTS

SP-6

il

LN
/

ecialties™
NEW JERSEY

3

PHONEY 1-B00—-631-7379 / FAX: 908-272-5844

struction S
KER AVENUE, CRANFOQ

49

o A . YAVWLTCE-IG.COM
) , Flonda Firm No  F-01000005061
Detall Detail S Certificate of Authorization: £909
eTtal R SCALE! NTS \57 L. David Rico
SCALE: NTS SP-6 Registration ho: 50923

SP -6

SEE SHEET 10 FOR CLIP DETAILS

Netall
SCALE: NTS

SP-6




I THEA 6063-16 ALUMINUM _0.070 THK 3 o
fod A = STANDARD 6063-T6 Al UMINUM 0,070 THK 8 wls
3~ [BLCADE BRACE 6105-T5 ALUMINUM _ 0121 THK 2ll18
4 [SIIL 6063-T5 ALUMINUM 0,080 THK z12(5|-.
S [ STANDAR] M _ 6063-T6 ALUMINUM 0125 THK Ryl o
& ISTANDARD M ON HALFE 6063-T6 ALUMINUM 0125 THK @i | |2
/ ISHAPL BLADE INFORCEMENTI3*x0.080 TRIM_ U MATCH SPECIAL SHAPE PROFILE 6063-16 ALUMINUM Glg|Z|2
8 [HEAD — FOR R SHAPES _[6063-T6 ALUMINUM 0.080 THK -
40 13 AA CHANNEL 6061-T6 AL UMINUM
4] 14" AA CHANNEL 6061-16 ALUMINUM
42 167 AA CHANNEL 6061-T6 _ALUMINUM
437187 AA_CHANNEL 3 6061-T6 _ALUMINUM
44 ICONTINUQUS MULLION ANG a 2'x3"x1/4% ANGLE 6061-T6 ALUMINUM
49 [CONTINUOUS MULLION ANGLE 4°x4"x1/4* ANGLE 6061-T6 ALUMINUM
46 |BLADE. BRACE CARRIER - - 2'x2"x1/4” ANGLE 6061-T6 Al UMINUM
47 12741787 MULLION TEF. 6063-16_ALUMINUM
48 [3 1/2°x4"x1/4* SLIP PLATE 6063-T6 A NUM "
. . &
20 [ JAMB CLI 2'x1-1/2"x1/4"x4-3/4" (G 6061-T6 AL UMINUM =
D] [ JAMB CLIP 4"x1-1/2*x1/4°x4-3/4° LG 6061-T6 AL UMINUM =
o4 [JAMB CI IP 2'x1-1/2"x1/4" CONTINUOUS ANGLE 6061-T16 ALUMINUM 151
o0 LJAMB CLIP 2'x1-1/2"x174"x2" |G 6061-T6 AL UMINUM =123 |h
26 LIAMB CI 1P 47x1-1/2"x1/47 CONTINUOUS _ANGLE 6061-T6 ALUMINUM SIE|TE
2/ [IAMB CLIP 4" 1-1/2"x1/4"xe2" .G _6061-T6 ALUMINUH AR
28 IMULLION CLIP ANGLE 47 x 6" x 3/8° x 6* .G CLIP 6061-T6 ALUMINUM - 2 STANDARD MULLIONS HEAHE
09 IMULLION CLIP ANG 4° x 47 % 3/8" x 3 1/2* 1.G. CLIP 6061-T6 _ALUMINUM - 4 CHANNEL_SPLICE StaZe
60_|MULL] CLIP ANGLE 47 x 4* x 3/8" x 7 1/4* {.G, COPED CLIP _6061-T6 ALUMINUM - 4 CHANNEL SPLICE ALT, ZlE|S|&
1 IMULLION CLIP ANGLE 4* x 4% x 3/8" x 4 1/2* LG _CLIP 6061-T6 ALUMINUM — 2"x4’x1/8% TEE/27x3"x1/4* ANGLE MULLION
G [MULLION CLIP "ANGLE 4 x 6" x 3/8" x 6 7/87 1. COPED CLIP 6061-T6 ALUMINUM - 2*x4°x1/8* TEE/2"x3"x1/4" ANGLE MULLION AT,
63 _IMULLION CLIP ANGLE 4 x 4" x 3/8" x 4 1/27 |G CLIP 6061-T6_ALUMINUM - 6% CHANNEL _SPLICE
64 M N_CLIP ANGLE 4° x 6" x 3/8* x 8 1/2* LG, COPED CLIP 6061-T6 ALUMINUM — 6* CHANNEL SPLICE ALT,
69 MU CLIP ANGLE 4" x 4% x 3/8" x 6 5/8" |G, CLIP 6061-T6 ALUMINUM — 27"x4°x1/8" TEE/47x4’x1/4" ANGLE MUl JON
66 [MULLION CLIP ANGLE 4" x 6° x 3/8° x 7 1/2* (G COPED CLIP 6061-T6 ALUMINUM - 2"x4’x1/8" TEE/47x4°x1/4” ANGLE MULLION ALT. B
6/ [MULLIUN CIIP ANGLE 4° x 47 % 3/8" x 6 5/8' LG, _CLIP__6061-T6 ALUMINUM - 8* CHANNEL SPLICE @y
68 [MULLION CLIP _ANGLE 4" x 6* x. 3/87 x 10 1/2° LG, COPED CLIP 6061-T6_ A UMINUM - 87 CHANNEL SPLICE ALT, = ok
mmc!‘
80 (STEEL, STUD 16 GA MINIMUM GALVANIZED STRUCTURAL STEEL _STUD B85
81 ISTRUCTURAL STEFL 3/16” THK MIN, P EE
82 |ALUMINUM PLATE 178" MINIMUM @ =3
3 [CONCRETE 2000 LE_MIN, CONCRETE £ 5
84 [CMU GROUT FILLED CONCRETE MASONRY UNIT m%i
89 [WOlD G = 0.42 MINIMUM gga
100 [1/4-14 SCREV THREAD FORMING O0R SELF DRILL S.S FDR Al UM PILATED CARBON_STEFL FOR 16 _GA STEFL_STUD, SPACING DETERMINRD RY CIIP | AYOUT ‘.gg;g
Q4 [3/8” NUT _AND BOLT 3/8 - 13 S8, ALLOY GROUP 1, 2, OR 3 CONDITION CW WITH LOCK WASHER 5@8
06 11/27 NUT AND BOLT 1/2 - 13 8.8, ALLOY GROUP 1, 2, OR 3 CONDITION CV WITH LOCK WASHER _ =g
08 [1/4-20 x_1* SCREW STAINLFSS STEEL THREAD _CUTTING £ POINT PILOT HOLE 228 - No 1 DRILL SPACED 3 1/4 INCHES , &
g i‘/lg’g&egle!u. NUT & WASHER 1/4-20 SS NUT, BOLT AND | NCKWASHER SPACING. VARIES _ /72%
#2-24 x 1 1727 S.S. TEK SCREW ALLOY GROUP 1, 2, DR 3 F?Eg Vi \\“\“{\5;28”% y — 3%
AL s S B Y,
PRODUCT GEVISED ENGINEERING S Qf\[_::
#3 complying with the Florids 105 Schoot Croek Tral & \"\,\ b -
Buliding Cede Luxeniburg, W 54217 R 7
AsowptinceNo [ 1-{ 212,07 Phone 920.845 1042 >
‘ ~ rpinstign Bets b Fax.  020.045 1048 =
By - 12 VAL HCG-NG.COM =
Migmi Dade Pracict Control
Elofida Firm No: F-01000005061
Certiticate of Authorization: #9090
L. David Rice ,
Reglstration No: 50023

DEG 0 6 201t




T XS
oo b B

r 3,841 - |
= 4,001 - - 6,000 - 3
] R
[],070—1 2‘5 1,000 ’ | 5 - Jamb { “le ~“—’§
0425 ” il 0.5 @]J 1125 [ oa70d] h PRODUCT REVISED AHNE
' ' I 0,290 —= t=— 43 courplying with the Fiogida 2| E S
1 - Head 2,200 Amm"&it 1. 1020, 08 3B S
E"P‘ 06] 5] 371
= e
f 6 - Mullion 42 - 8" channel !
—0125 || 1500 '
| —8.000— -
| | ST,
- 4,001 . Buitdéng Code ~
! 0.230 4 h Aseptence o [1~1212,07 | |2
[ 0.190 Fxplnityy Do ZE
L““T_“ 3,00 it Caairol dg.h
I 43 - 8" channel [
ol 4.000 - channe ] 2 | ) &
OA30 = b RICE EEE
ENGINEERING
0.161— j=— Eo,esg EESchomcreeman
3694 — — ) 0125 PhonG. 920.645- 1075
' ? 5{3: p 920.845 1048 %
v *1 500* W IICe-ING.com 7))
- ~—2,000—] 4,000 :
| 47 - Mullion Teierme, roomomsme | Bys
L. David Rica -k &
1 Registeation Mo: 50923 o B
3,080~ 40 - 3" channel 41 - 4" channel @ 5
3 - Blade Brace —Rip to 1-18‘:1 - I 3 e———— 4,000 2§§
| 2,000 o
L 1 ] S e 1000 %§§§
| T e | TR | O O 347
{ 0.079 | 4,000 — B
I U 3,000 ] 0.250 1.500 3500 | g;é,;
2,000 - |, a2
. ') == | W
8 - Head for | n }ig,,,%?é/
1 N . ] N o ff z
'rOlfnd Shapes 2060 4000 | |—2.000— "\\:*4.}{‘: ML |
4 - sil o 44-Cont. 45 - Cont, 46 -Blade 5.7 Wb o2
| mullion angle  mullion angle : : : - SlipePlate—
Brace Carrier D omeor s
S ORI oS

4

" ,“)‘I L, LTV N
YA

>
Sir W

DEC 0 6 20




% FRODUCT REVISED
#58 adeoa‘;gmH whth the Flotids
. Bailding Code
3. L4 -
sF sk CLIP ANGLE pi3 2 S Asceptzieo No 1/ fﬂﬁgt)é
- H || alhko afs
- BOLT PATTERN B (["%%'_l 1—\0—- CLIP ANGLE 2
- CLIP. ANGLE ol BOLT PATTERN Bt ais Frosum Cordio
. | t3  BOLT PATTERN B i
o] T [-ej -
54
o ’ 4 4
.| ¥
B TR 1 -y l -2 1 (-2
s an I A Y i
2 = e
i I ¢ PO
| i p=n lé' Gé" -r T /)
6’ | & 5 ’ 27 6 ' ] I ] , ‘\__
-f— I _/ 7%’ pj * —/
2} o i
lét | . 81"
) 14 4 s
- —L h =
ki
4 —a] *
| 85' — 4 g —
—_ 4r - #59
B 3 CLIP ANGLE £60
< BOLT PATTERN A
# } T CLIP ANGLE
oY 23~ BOLT PATTERN A
6" - CLIP ANGLE
— 4
BOLT PATTERN A
o RE* PRODUCT REVISED ﬁ E @ E
e [!I I I ) AT FE TR .
b
g ENGINEERING
105 Seiool Crepk Trail
tuxomburg, W 54217
Phone  920.845 1042
fFax 920.845 1048
werv aice-ng.com
Flonda Fim No F-610000506%
MULLION CLIP FASTENERS SAMPLE 4 Catificate of Authorization. #5059
Cold formed stee], . Alurafnum or Structural Steel -Tapped or | 2000+ PSI Concrete or Concrate fiffed o . -k
i I Viood Structural steel - mi . : 4000 psl - 0923
}?li%bl‘e)r un:::urgégi s support ’ minimum 16 gavga cuetural steel - mintmum 3/16 Aluminum Mintmum 3/8 with nuts and bolts minfrum * thick psl configgistration e
Bolt pattern A Bolt pattern A Bolt patiern A Bolt pattecn A Bolt pattera B Bolt pattern Bolt pattern B
41ag bolts embeded 174 - 14 thread forming or self |4 74 - thread forring or self 1/4-+ 14 thread forming or self 1" Hiltl KB 3 carbon steel or $5 with Hilti HIT-RE 500 # veith threaded sod for reverse
58 1 per connection | Standard mulllon 24 with 1 inch edge drilling ceated carbon steel or dillling coated carbon steelor | 9llling coated carbon steel or 55 318 - 16 plated oaégon steelor minlmum edge distance of 4%, cllp Instaliation with minlmum edge distance of L
distance $5 screw ming” edge distance | $5 screw serew minimum3 * edge dlstance Conditlon CY¥ S5 bolts embedded minimum of 33° 31", embedded minimum of 3§° ‘\“\\Y‘ “HJ;, ’
1743 tag bolts with 1 1/4- 3 thread forming ar self | 1/4 thread forming or seif 1/4 - 14 thread formlag or self . 3" Hilti KB 3 carbon steel or 53 with Hiltl HIT-RE 500 3/8 and threaded ro Q:.:‘t?f 9 k\“D 1
59 1 perconnection | 4 Inch channe! splice tnch edgaegdisotat:c\z drilling coated carbon steebor | drilling coated carbon steel or  § driiling coated carbon steel or 58 3/8 - 16 plated carbon steol of mintmum edge distance of 417, minimun: edge distance of 3%, em!@, od | Ve
58 serews min edge dist§’ 5% screw mi edge distance 3 sorew Min edge distance 3 Conditlon G 55 bolts embedded minimum of 24* mintraurs of 337 A“\(}E e
1/4 - 18 thread formtng or salf |4 5 airead rarming or Seif 178~ thread fotming or self drifing # il KB 2 carbon steel or $Swith Hil HIT-RE 500+ HAS 3/8 and FRéwil® v | 7
60 1 per conneetion | 4 inch channel splice llr{fhxei;gdll}?:;:ggth 1 dellfing coated carbon steel or driliing coated carbon steel o: coated carbon steel or 5% serew min 3/8- 16 plated carbon steel o minfmum edge distance of 2}7, sinlmum cdge distance of 2 epbedded Z.
- : 55 screw 5 screw min edge distanced” | edge ditancel® Conditlan G 55 bolts embedded minlmum of 2§ minimum of 33" SN

*Any Tastener rated far 2000 psi
concrete can be used In 4000 psi
concrete

4

ol

] (=]
u =
=R
I T
(2]

—_ (=)
Z(219] -
ol¥1T]o
a..l—z
2w
Sl |w|=
ml<|T|x
xla|lan|la
[2e)

L]

4

%

[aY

3
NEIIA
S|
a1z |«
I
o|® s
e S
-
olelsi®
LiF{]|D

ecialties™
. NEW JERSEY

PHONE: 1-800-831=737¢ / BAX: 908-272-5844

2

49 MEEKER AVENUE, CRANRGC

hY
Cénstmcti@n S




5 il A ¥ i % ad B \\
RIS

s 3
- ek3 il | |s
6l i 467 i #63 #64 IENE
i - adis 5 [ CLIP ANGLE CLIP ANGLE Tlule
, CLIP ANGLE CLIP ANGLE =212 ..
24" BOLT PATTERN B 24" BOLT PATTERN B BOLT PATTERN B |[2(&[ol;
I PATTERN BOLT PATTERN B , oy’ 2 i1z
S |Eiid =
I [ ﬂJ AR
23 e
1 !
o] i
— Qe
—c#)—%}——!- . - fo— 37—
o5 | 28" 4&’3 b 5" 4} 4 ] 4 }
'} A X
| S e l 2 g’ 4|+ or ]
& —+=- { I 129 : r Egt 4érj_m _E_ — *
n 8%’ 8%; l_ 1,
lor 16— 9 1] - |1 = §
4 1 | ,__L T l H 4%: 4%1 j____ :3;
F [ e L) e il s :
, [ 6%' . , 4 & = ol -
& d & = 38 i gir B ~1 5@
t i) t \r = _— ‘8 J 3 E :l g
rl 8 . ¢ r Qj x [=] % i .
ei | | 3 % I
d p & =N I RIS
L | | 4' _{___ I £ o T \r = 8 E E!
3 14 144 . : 2|EIS|E
_L_ #6) 2 L‘ #63 aé' alrlals
T ¢ L] CLIP ANGLE LEFT i
T cLIP ANGLE | T AND RIGHT B i
“— LEFT AND RIGHT 2 4 SEQUIRED ~ 135" #64
| | | ’ i
, | BOLT PATTERN A PRODUCT REVISED s 03
PRODUCT BREVISED ' —| &8 complying with ihe Fholda 4 7 T‘Eg&
. Bullding Cox " £
Building , . 1 & Awmﬁu//‘-/ I‘10¢ J— I_g: RECE 'ﬁEE
L i I =
=R ENGINEERING | ® .5
By . I 108 School Craok Trait 1 s
Mimntt Pade Product Control 6 ' Luxemburg, Wi 54217 - U Lzué
PG 920545 1042 g
Fax: 920845 1048 658
MULLION CLIP FASTENERS SAMPLE § vRTice-InG.com {E uy
Cold formed steel, Structural steel - minimum . . 2000* PSI Concrete or Concrete londa Firm Np: F-01000005081 63
’ : Aluml Structural Steel - ) Al
rﬁ'g !::Sr C‘?;'s"r‘:’;;]‘;z g Support Woad minimum 16 gavge # thick Aluminum Minimum 178" i?ap‘::";; or with iuts ard boltg filled CMU 4000 pst coneertificate of Authorization: #9080 o3 g{é
Bolt pattern A Bolt pattern A Boltpattern A Bolt pattern A Bolt pattern 8 Bolt pattern B Bolt pattera 8 :{,‘;;ﬁi J,i ? l'i HCFE h: 50923 E lﬁfﬁ
feft and right 4x2 Tee & 2X 3 X 1/4 | 14 tag bolls embeded| 1/4 - 14 self drilling coated |1/4 thread forming or self | 1/4 - 14 thread forming or self - Hiltl 3/8 B3 carbon steel or 55 Hiltl HIT-RE 500 + HAS # threaded rod Ef}"_
61 required M1 angle relnforced 24*with 1 mininch | carbon steef screw with §* | drilling coated carbon steet | drilling coated carbon steel or 3/8-16 Plat‘zdstsal;blﬂn steel oF | yith minimum edge distance of 37, | with minimum edge distance of 2§, #
mulllon adge distance min edge dist. or 55 screw 3 min edge dist | S screw with 4 min edge dist Condition C olts embedded minimum of 34 embedded minimum of 33" @ %
Ax2Tee & 2%3X1/4 |1/4 lag bolts 1/4 - 14 self dillling coated [1/4 thread forming or self {174 - 14 thread forming or self Hiktl 5/8 K8 3 with minTmum edge | Hilti HIT-RE 500 5/8 with threaded ragoy
1 per £ i .
62 connaction angle relnforced embrded 2 4" with 1 { carbon steel screws with 3 drilling coated carbon steel | drilling coated carbon steel or £-11 plated carbnbn Isleel or distance of 43", embedded malnimum edge distance of 3, embe{@
multion Inch edge distance | min edge dist. or 55 screw min edge dist 37 | S screw Min edge dist 1" Condition CW 55 bolts minlmum of 4" mintmum of 27/8" N N
left and right 1/4 X lag bolts 1/4 - 14 self drifling coated (1/4 thread forming or self | 1/4 - 14 thread forming or self Hilti 3 /8 KB 3 carbon steel or S5 HIlt IIT-RE 500+ HAS § + threadgd rod &
63 required € 8inch channelsplice embed 24"with 1 |carbon steel screws with §" | driliing coated carbon steel | drilling eoated carbon steel or 3/8 - 16 plated carbonsteel or | yith minirum edge distance of 3", | with minimum edge distance of 23 ", F
inch edge distance | min edge dist. or $5 screw 3" min edge dist | 55 serew with # min edge dist Condition CW S5 bolts embedded minimum of 3§ embedded mintmum of 3 §" ’E * i
1 pe - 1/4 lag bolts 1/4 - 14 self drllling coated {1/4 thread forming or self  }1/4 - 14 thread forming or seif . 1 HIE K8 3 with minimum edge | HIT-RE 500 578 with threaded 'Ejy x
84 ccﬁlgecuon Ginch channel splice | ambeded 2 1" with 1 | carbon stee! screw with §* drilling coated carbon steel | drilling coated carbon steef or §' - 11 plated car}i:oln steel or distance of 41", embedded minimum edge distance of 3%, e
inch edge distance | min edge dist, or S8 screw min edge dist 3* | S5 screw edge distance § Condition CW S5 holts minimum of 4* minimum of 2§* o g Q}
*Any {asterer rated for 20440 psi é"n,f.L OR\Q““éé\S
canciele can be used In 4600 psl BT a
condrete @z‘z‘,‘s‘f OAAY % \_‘:‘\

DEC 0 6 20n




£ | ‘
#65 ol #66 S #67
i CLIP ANGLE X) " CLIP ANGLE 35 CLIP ANGLE #68
BOLT PATTERN B T { BOLT PATTERN B 6 BOLT PATTERN B CLIP ANGLE
ol - ol BOLT PATTERN B
s 1.
23 47— — 2} 1 S
4 44’ 4 r
[—— 8’ ] e Oy ¢ . La— a%
_ e S I e B
#oie’ i3 —ar— —
- Ben " _ r
7l | A k| 4 =
r r x ISl |}
63 Eg 68 e"g, J 7%1 N 63' - agr 68: R I 3&:
4 . 'S = ;{,i%r _/ i = a
l H & . — B 6%' =] 6%' ——
l ¥ \r 41 —
R r
] _/ 23 [ Br5s 105 .
. 'L— . K . % J». 104+ =
Ié "l'*_’ lé jS% .i.-. [ N |} ] 1&, lé' ¢1%' —/ T oF v.f \r é K
H.....I 1%' 1%‘ '—eg: B 1 T—ﬂ .
-3 L [ | "
; 8 8 4 * & 154 £ ~=]
4 4 4" ak'
J. |- ID"[ L ' f ’g . ——rg i - .
1|1 I I ¥ 1 I | |
_T [ I i " 1 R T — 1%: | 1%: | e
L—4’—~| #65 I 61’ ! #66 4: - I 6'
CLIP ANGLE PRODUCK REVISED CLIP ANGLE LEFT PROUUCT REVESED #67 r &
LEFT AND RIGHT REQUIRED :uwmwhﬁefhﬁa AND RIGHT REQUIRED ;99compiymg with the Fuwda CLIP ANGLE LEFT Eé Cfﬁj ANGLE
: Mding Code 3uliding Code e & T LEFT AND
BOLT PATTERN A BOLT PATTERN A aceeptancs No - 21 7 AND RIGHT REQUIRED g JH%EERING IGHT REGUIRE
Banstmtion c?éf/ﬁ (2010 BOLT PATTERN A 108 S Graok Trail D
By ' 'Lux-jin bifrg. Wi 542527 g BOLT PATTERN A
’ . £ . Pheho} §20.845.104
Miaral f F;Odnct Caoutrol *Any fastener rated for 2000 pst Fay O7 '
concreta can be used in 4660 psl VW, TI}IB-IHG'GOm ! { ' |
concrete 6' 1
MULLION CUP FASTENERS SAMPLE 6 e I"Iunda Fitm No: ¥-01 00000506‘!
Cold forened sieel, Structural steel - minimum * 7
Clip iD Number of Woeod " Aluminum or Structural Steel- Tappeq  2000* PSI Concrete or Coper .
Nur[;ber clips required Support minlmum 16 gauge 315 Aluminum Minimum 1/8 or with nuts and balts min]* thick filled CMU Lnﬁfi&tf: S)lg{;m 50{;1'_%]0 psi concrete \\\\““unl]}”’””
Bokt pattern A Bolt pattern A 8ot pattern A Bolt pattern A Boft pattern B Bolt pattern B - Bolt pattern B N QP\V,ID i
- a Wit iy,
ft | 4x2Tee & 4X4X1f4 |1/4lag bolts 1/4 - 14 self drilling coated |1/4 seif driliing coated 1/4 - 14 self drilling coated , Hilti HIT-RE 500 5/8 with threaded rod o S
33 iriqj?;ldr ght angle reinforced embedead 2.5.. with 1 | carbon steel or SSscrew | carbon steel or 55 screw carbon steel or $§ screw min §-11 plated carbon steel or m:giiaﬁfnaefi‘;?ggt?:i (;; i‘,".’“uh ninimum edge dis/(ance of 417, embeddig \{\,\GE
mullion ;nch edge distance ;nln edge dist 3" ;r;Tlml::f; (;[r;ge dist edge distd” Condition CW S5 bolts embedded miglmun of 3" intnlmum of 2§ .,. F
left 4x2Tee £4XAX 1/4 2" lag bolts - 14 self drilfing coated seir arflling coated 1/4 - 14 self dillllng coated B 1 ) HIki HIT-RE 500 + 5/8 with threacled,:p:l?'i
66 :_, qt?lrr‘: drlght angle relnfarced embeded 2" with 1 | ¢carbon steeforSSscrew [ carbonstealorSSserew | carbon steel or 8§ screw min # - 11 plated carbon steel or :::ztlismizz:abgi:;:i E;zsi\‘fith mintmtm edge distance of 3%, embe@% F
mulifon Inch edge distance  { min edge dist§* min edge distance §* edge distance }* Conditfon CW 55 bolts embedded minimum of 4" minimum of 2 §"
laft . . 1/4 lag bolts embed | 1/4 - 24 self drilling coated | 1/4 self drilling coated 174 - 14 self drilling coated N ] 3 PRI g 7
67 ri q:i?: d”ghl 8 Inch channel spliee | 2 fwith Linch edge | C@rbonsteelorSSscrew | carbon steel or §5 serew carhon steel or $3 screw min 5/8 - 11 plated carbon steel o7 ::::::iiﬁf ec; ri: 3?5:;?]iia°;fsﬁnmth ﬂ::i:gn?e j wd‘?ﬂg w“h; I;r;r id: ; ’Q“ ? X Lo ?“.‘-‘ Qf‘
distance min edge dist §" minlmum edge dist * edge dist ¥ Condition CW $S bolts embedded mginlmum of 3" ! rrinimum gfge* « sancee mbegs ' n,,“n““n ("‘% N
. left and right 1/4 {ag holts } - 14 self drilling coated | 4/4 self drilling coated 1/4 - 14 self drifling coaled Him§ ¥B3 carbon steel or SSwith | Hilti HIT-RE 500 + 5/8 with threaded rot” ’1 £ QNAL \\\
68 required 8inch channel splice | embeded 28 with 1 | carbon steel or SSscrew | carbon steel orSSscrew | carbonsteel or $5 screw min 5/8 - 11 plated carbon steel or | 41 im edge distance of 4 §°, minimum edge distance of 3%, embedded thy " iln!‘“‘
: inch adge distance | min edge dist§' mlnimum edge dist adga dist§* Condition CW $S bolts embedded minimum of 4 minimum of 23"

05-24-(

RD- 1140

REVISION: |
DATE: 12-03-10
SHEET: {0 OF 12
DRW NO :

TITLE: SUBMITTAL DRAWINGS

PROJECT: DC~&174
SCALE: 3" = I'«0"
DRW BY: R. GEIST

ecialties”
D, NEW JERSEY

2P

ction

L1
49 MEEKER MVENUE, CRANFI

PHONE: 1—-8C0-631-7378 / FAX: 308-272-5844

Cons




SILL OF EVERY BLADE STIFFENER

—] J— L
\ 1 —t _._%r o— —G— i Hé- %% /“%92.
\V/ \ ™ 1 1 %'
\ , ] r\ e . NG 5S¢ CLIP NO S1 CLIP I H r ‘ _(i{_
r% TN 392, /\/ BOLT PATTERN B BOLT PATTERN B " 392' 2’ € 2
L ] r 1 | I [ | ] [ ] 1” ——
T “ =" Bl - =]
] . | | / ¢392‘ ] 17— L—
B . -
5 | ¢% S H ! ﬁﬂsﬁ e T f MO S5 cLIP
o) = D < Cot vary Fron 1 to 3° or 4 ) &: FOR USE WITH
£ ¥ i acdomnodote edge i _[— SHAPED
Y o g, diftance requirements - | dn LOUVERS
5 X 13 [ | i
_—
& el = ¢ —r . | f —~
o] - ) -
® 6 « 6" b = Teb o =
2 | ! |
I 2 [ .
o 4 = » 4% = aga c &b 43,_5_
Y g - & ! J_ = & = ai%'
o | | S £ = et | A r
W = b i3
T ettt & & : 5 — RIS e /
L o) - = - A
x 7 T x i T e - EU —~ et | e L 1
X g X g . . T B
g _— Can vary from 1’ to 3
£ £ g £ _f— N to accommodate edge 1 T
-+ [y . [As) pr I A &‘ o distonce requirenents i Con vary from 1* to 3°
v by | 1 __[ : L to actonmodate edge
T _1 ' g 4r € [ E@Eenents
I e T N — b1 1 -4 ND 57 CTLIP
1 1
v 1. PRODUCT REVISED & §ﬂ§pE§E WITH mmaerssatscensizon
ﬂ—_ T ] lé' "l” - r4 23 comgdying with the Flonkda , LOUVERS FNGINFFRING
= 2 Code 105 School Graek Trail
2’1: 3 _[—%' 1 KO 50 cLp 1 ‘W"”N’ {1121 07 3 i, Likemburg. W] 54217
{ ] 47 EOLT PATTERBRODUCT REVISED — 1%* — | 3 Phone 620.845 1042
1 T qr Can vory from t* to 3° uWyinsz&gmﬂ. (umn) . Fax  920.045.1048 )
. ’ to cccomnodate edge NO 51 CLIP _[ v Jice-ing.com !
i r}l distence requirements { *’5’2—5 7 BOLT PATTERN A L
2 3 f %ﬁﬁ —~ 14 Flonda Firm No F-oaocuoegosg )
Certilicale of Authorizalion: #90
41 T
N 54 CLIP ’ | 1 %, o By L. David Rice
Mizmi Dede Product Contro! - Reglsiration No: 50923
NO Sé CLIP SHAPED LOUVER CLIP FASTENERS FOR ATTACHMENT TO BUILDINGS
[ .
Clip ID N Cold formed steal - Structural stee! - Aluralnum - 2000/4000 PSI Concrete or
I Number Wood minimum 16 gauge minlmum 3/16 mintum 1/8" Concrete filed CMU
JAMB CLIP STARTS ABOVE
+ - REAR LEG OF SILL
1/4 % 3 1ag . 1/4 - 20 thread 1/4 dia Hiltl KB L or
STRAIGHT JAME CLIP AND FASTENERS FOR ATTAC 55 boltscoated  |1/4-14thread : 1/4 -14 thread forming or | equivelent coated steel or
HMENT TO SPECIFIED SUBSTRATES carbonstee! { forming or self drilling Eor]rlﬁ'l:ggcg;f:: self drllling coated carbon | 55 2 inch min edge distance
Wood Cold formed steel - Structural steel - Aluminum - ) orstalnless  jcoated carbonsteal | oo Voo | steelor SSserew or 1/4-20 Jor 1/4 X 2 Inch poviers
Cilp Ip minlmum 16 gavge minimum 3/16 minimum 1/8" Concrete filled MU 2600/4000 PS1 Concrete steel. Clips on | or 5§ screw, Clipson4 scraw or 1/4-20 bolt, bolt, Clips on 4 3/8 Tappers 3 inch mintmum
Number 57 4 378" 3/8" centers, Clips an 7 © centers. centers, edge distance. Clipson 5
Continuous Clipl  Continuous Clip Bolt pattern B Bolt pattern A Continuous Cifp Bolt pattern B centers. Inch centers,
/4 dia Hili X8 1l or
% |bolisconted | ormtngor efarting cauivlent coatedseel or 4 — |
N $5with 33" Inch min edge T ] 1= SEE SCHEDULE ABOVE FOR
carbon steel | coated carbon steet
56 or stainless orstainless stes] dlslance, or 1/4 X 21nch [ I 1: RE GUIRED FASTE RS
steel screve Powers Tappers with 3 fnch I o USE ..S’Pgﬁiﬁ,'nﬁﬁ f
minlmum edge distance f AS S g%\w ) ‘4
¥ ¥
50 1/4-20 thread f N ¢39§ 3% R
Installed forming or self 174" Coated carbon steel, 1] | lé' ] SR o
12" on drilling coated 1/4 © self threading or self Stainless steel Powers l : I
center carbon steel screw. | drilling coated carbon steel tappers, Hilti Tagcan or ” |.._ Y | :
1/4-205Sboltcan | or SS screw equlvelent, 2 Inches long | é " % — Eé -
be used with a put : with 3 Inch edge distance, =1 i r HA
51 & washer arby i ' 48 - Slip Plat
'2;‘3"9‘3 drlliing and tapping 1 \[ - =lip Flate
center the structural steel, 4 USE MULTIPLE SLIP PLATES TO MIHIIZE
1 Mlnlmum%“ edge GAP AT BETWEEN BLADE STIFFENER
distance AND_SUBSTRATE, GAP SHOULD BE ND MORE
ATLEAST ONE SLIP PLATE IS REQUIRED A

05-24-11

RD- 1140

SHEET: Il OF 12

DATE: [2-03~10
DRW NO

REVISION: |

TITLE: SUBMITTAL DRAWINGS

SCALE: 3" = I'-0°
DRW BY: R. GEIST

PROJECT: DC-4174

ecialties™
, NEW JERSEY

PHONE: 1—BQQ—831—7379 / FAX S08—272-5844

P

FO

49 MEEKER AVENUE, CRAN

X
Con§tmction S

Ay
”UHIH“"'

DEC 0 6 201




1) Determine the required mullion spacing and louver helght either from structural or architectural
considerations, .

2) Starting with Mulfion Table 1, under the job wind load go down through the tables until the required
opening height Is found. The heading at the top of the table will Indicate the detall to be used for the
mulllon. The same tables apply to visible or hidden mullions (splices). Once the required helght has
been found for the job windload, move left along the row to find the corresponding multion/splice
distance. This will give you your section height and width, Proceed to step 3 for any additional
“stiffener” supports required.

3} From table 4, read the panel horfzontal span {mullion spacing from Step 2) and read the number of
stiffeners required under the design wind load. It may be necessary to change the mullion spacing If the
allowable blade span falls out side the table values, if so go back and repeat step 2.

4) It is possible to start with the stiffener tables to find a panel width {mullion spacing) , and then goto
the mullion tables to verify the mullion or chanel, detall and allowable height.

Mullion

Mullion ALLOWABLE HEIGHT FOR STANDARD MULLION DETAIL H/4 AND & 1NCH CHANNEL DETAILS Jf4 - K/4
Table 1 Wind Lozd PSE
20 | 30 ) a | so ] 60| 70 | 80 | g0 | 100 [ 10 | 120 [ 130 [ 10 | 150 [ 360 | 170
24 1 85 ) 85 | 85 | 85 | 85 | 85 | 85 | 85 | 80 | 72 | 66 | 61 | 57 | 53 | s0 | a7
30 ) 85 1 a5 | 85 [ 85 | 85§ &5 | s0 | 72 | 64 { 58 | s3 | as | ag | a3 | a0 | a8
36 | 85 | 85 | 85 | 85 | 85 | 756 | 66 | 50 | 52 | a8 | a4 [ a1 | 38 | 35 | 33 | 34
42 | 85 | 85 | a5 | 85 | 26 | 65 [ 57 | sa | as | 41 | 38 | 35 | 33 | 30 | 28 | 27
48 | 85 | 85 ] 85 | 80 | 66 [ s7 | 50 | 44 { 40 | 36 | 33 | 32 | 28 | 27 | 25 | 23
54 | 85 | 85 | 85 | 74 | 58 [ 51 | 44 | 39 | 35 | 32 | a0 | 27 | 25 | 24 | 22z | zt
0 | 85 | 85 | 80 | 64 | 53 | a6 | 40 { a5 | 32§ 29 | 27 | 25 | 23 | z1 | 20 | 1o

66 8.5 B85 7.2 58 4.8 a1 36 32 29 26 24 22 21 13 18

72 85 | 85 | 66 | 53 | a4 | 38 | 33 | 30 | 27 | 26 | 22 [ 20 | 19 | 18
78 85 | 82 | 61 | as | a4t | 35 | a1 | 27 | 25 | 22 f 20 | 10 | 18
24 85 | 78 5,7 a5 | 38 | 33 | 28 | 25 23 21 s | 18
90 85 | 21 | 53 | 43 | 35 | 30 | 27 | 24 | 21 | 19 | 18
96 85 | 66 | 50 | 40 | 33 | 28 ) 25 | 22 | 20 | 18
10 85 | 63 | a7 | 38 [ a1 | 27 | 23 | 21 | 19
108 | 35 ) 59 [ 44 | 35 | 30 | 25. | 22 [ z0 [ 18
14 | 84 | 56 | 42 | 34 | 28 | 24 | 21 [ 19
120 § 80 | 53 | 40 } 32 | 27 { 23 | 20 | 18

Pane! span (in.) - from jamb o E-nul!iéﬁ or mullion to mutlion

Mullion | ALLOWADBLE HEIGHT FOR REINFORCED MULLION 4 X 2 TEE WITH 2 X 3 X} ANGLE DEYAILS L/S - MI/5 AND 6 INCH CHANNEL DETANS N/S - P/S
Table 2 Wind Load RSF

1w | 30 40 50 60 70 80 90 J 200 | 130 [ 120 | 130 [ 10 | 1o [ 180 | 1o

24 | 100 | 100 | 100 | 00 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 [ 100 [ 08 [ 02

36 | 100 [ 100 | 106 | 200 | 100 | 100 | 160 | w00 | 100 | 100 | 106 | o6 | 89 | 83 | 78 | 74

36 10.0 10.0 10.0 100 i0.0 100 109 10.0 i0.0 9.5 8.7 8.0 74 6.9 6.5 6.1

42 100 10.0 10.0 100 10.0 109 100 89 89 8.1 74 69 6.4 6.0 5.6 532

48 10.0 16.0 10.0 108 10.0 100 9.8 8.7 7.8 71 5.5 5.8 36 52 4.9 a6

54 | 100 | 100 | 1200 [100 [100] 99 | 87 | 77 | 65 | 63 | 58 [ 53 | 50 | 46 | 43 | 41

60 | 100 | 100 | 100 | 100 | 100} 82 | 78 | 69 | 63 | 57 | 52 | a8 | a5 | 4z | 30 | 37

66 10.0 10.0 100 100 9.5 81 1 6.3 57 5.2 4.7 4.4 4.1 38 36

72 100 | 100 | 100 | 100 | 87 74 6.5 58 52 4.7 43 4,0 3.7 s
78 00 | 100 | 100 | 96 8.0 6.9 60 | 53 48 44 A0 3.7 3.4
84 w00 [ 100 [ 100 | 89 7.4 6.4 55 5.0 4.5 4.1 a7 34
20 100 | 100 | 160 | 83 64 6.0 5.2 Y] 4.2 38 35
9% 100 | w0 | o8 7.8 65 56 49 43 3.9 26
102 | 100 | 100 9.2 7.4 6.1 5.3 46 71 41 3.7
108 | 100 | 100 | &7 6.9 5.8 50 43 39 3.5
114 § w00 | 100 | &2 65 55 47 41 37
120 | 100 | 100°| 7.8 6.3 5.2 45 3,9 3.5

Panel span {in.} - from jamb to mullion or maflian t¢ mullion

ALLOWABLE HEIGHT FOR REINFORCED MULLION 4 X 2 TEE WITH 4 X4 X} ANGLE DETAILS O/5 - /5 AND 8 INCH CHANNEL DETAILS /5 - T/3
Table 3 Wind Load PSF '
20 | 30 40 | s0 60 70 a0 90 | 100 | 110 | 120 | 130 | 120 | 150 | 160 § 170

24 | 120 | 126 | 120 | 120 § 120 | 120 { 120 | 320 | 120 | 120 { 120 | 120 | 120 | 120 ] 120 | 120

30 | 120 | 120 | 120 | 120 | 120 | 120 [ 120 | 120 | 120 | s20 | 120 | 120 | 120 | 120 | 120 | 120
-§ 36 | 120 | 120 | 120 | 120 | 120 | 1220 | 520 | 1206 | 120 | 120 | 120 | 120 | 120 | 113 | 106 § 100
E a2 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 112 | 104 | 97 | o1 | 86
E 48 120 12.0 12,0 1249 1240 12.0 12.0 120 12.0 11.6 106 . 9.8 9.1 8.5. 8.0 13
2 5a |26 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 112 | 103 | oa | 67 | 81 | 726 | 71 | &7
51 60 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 113 | 102 | 93 | 85 | 78 | 73 | 68 | 64 | 60
21766 | 120 | 120 [ 120 | 120 | 120 | 120 | 116 | 103 | 93 | &8 | 77 | 71 | 66 | 62 | s8
§ 72 | %20 | 120 | 120 | 120 | 120 | 120 {106 | 94 | as | 77 | 71 | 65 | 61 | 57
2] 78 | 120 | 120 {120 120 | 120 [ 1121 98 | 87 } 728 | 721 | 65 | 60 | 56
e[ 81 | 120 [ 120 | 120 | 120 | 120 | 104 | 91 | 81 | 73 | 66 | 61 | 56
£ 50 [ 720 120 [ 320 | 120 | 112 | 97 | 85 | 75 | 68 | 62 | 57
Sl o6 | 120 | 120 | 120 | 120 | 106 | 91 | 80 | 71 | 64 | 58
1l 102 | 120 [ 120 | 120 { 120 [ 100 | 86 | 75 | 67 | 60
?': 8 | 120 | 120 { 120 | 133 | 85 | 81 | 72 | 63 | s7
& i1a | 120 | 120 | 120 | 07 | &8s | 77 | 67 | 6o

120 | 120 | 120 | 120 [ 102 | 85 | 73 | 64 | 57
stiffeners NUMBEE OF STIFFENERS REQUIRED FOR EACH PANEL
Table 4 Wind Load Pounds Per Square Foot

20 30 40 50 | 60 70 80 | 90 10| umo| 10| 130| 1407 11s0| 10| 1w

24 0 0 0 0 e 0 0 o 0 o 0 o 0 0 0 0
g 30 0 o o o 0 0 0 0 0 0 0 g 0 0 0 o
5 a6 G o 0 0 0 0 o 0 9 0 o 0 ¢ 1 1 1
S 42’ 0 1] 0 o 0 ¢ 0 0 0 0 1 1 1 1 i 1
?:, 48 0 0 0 0 0 0 g i i 1 1 i 1 i 1 1
i 54 0 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1
~§ 5| 60 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1
'E:Té 56 0 a 0 1 1 1 1 i 1 1 1 1 1 1 1
g.g 72 0 0 i 1 1 i 1 1 1 1 1 1] 1 1
E% 78 o o 1 1 1 1 1 1 1 1 1 1 1
ZE| ga 0 1 1 1 1 1 1 1 1 1 1 1
E |90 | o 3 1 1 1 1| 1 1 1 1 1
% 36 0 1 1 1 1 i 1 i 1 1
8 102 1 i 1 1 1 1 1 1 1
2 108 | 1 i 1 1 1 1 1 1 2
2 14 | 1 1 1 1 1 1 1 2
¢ 120 | 1 1 1 1 1 1 2 2

NGINEERING
105 Sehool Creek Trall
Luxemburg, Wt 54217
Phong 920,845 1042

Fax

1

920.045.1048

2 or3,

WAWWLIGE-ING.Com

Flonda Firm No £.01000005061
Certificale of Authorization: #9090

® used to find values that {

3\l
o

N {3 Wiy
|

Wiy,
» .

P iIONRL B

Mgy

05-24-1)

REVISION: |
DATE: 12-03-10

SHEET:12 OF 12

DRW NO : RD-1140

PROJECT: DC-Li74

TITLE: SUBMITTAL DRAWINGS
= |'-0"

SCALE: 3*

DRW BY: R. GEIST

cialties™
EW JERSEY

()

Con\gmcti ns

1—800~831-7378 / FAX: 908-272-5844

49 MEEKER AVENUE, CRANF!

PHON

L-David-Riee

Regisiration No: 50923

DEC 0 6 20y




